Café Tables

Mf

WB Manufacturing LLC

Assembly Instructions

Before you begin, please make sure all parts and proper quantities are included. (See Part Identifier Key) Any parts damaged during shipment must be
reported within 24 hours of receipt. To report information regarding damages or if you have any questions, please call 800.242.2303.

Step 1:
« Place table top face down on protected surface so Step 1-2

threaded inserts are facing up.

Step 2:
+ Align base with threaded inserts

« Using a 4mm Allen wrench or 4mm Hex bit, secure top
with joint connector bolts. (See Part Identifier Key for
type of bolt to go with the base.)

Tools Required

Screw gun
« 4mm Allen wrench OR
« 4mm Hex bit

Part Identifier Key

Round Café Table - Tubular X-Base (Adjustable Height)

Table Bolt Type
Dia/Size” Base # Base Part #: (Used to attach base to top) BoltPart# Qty.
30&36 7526-300 | 04066788 ¥4-20x15mm joint connecor bolts 04009023 8 % i
42 7532-300 | 04067318 ¥4-20x15mm joint connecor bolts 04009023 8 :b

Round & Square Café Table - Arch X-Base (Fixed Height)

Bolt Type
Table Dia/Size” Base # Base Part #: (Used to attach base to top) Bolt Part# Qty.
24 & 30(Rd &Sq), 36(Rd) | 7326 04067202 10-24 x 1”joint connecor bolts 0401158 8
36(Sq), 42(Rd) 7332 04067234 10-24 x 1" joint connecor bolts 0401158 8
42(Sq), 48(Rd) 7338 04067193 4-20x15mm joint connecor bolts 04009023 12

V041619 subject to change.

wibenchmfg.com 507 E. Grant St. Thorp, WI 54771 « P - 800.242.2303 -



Café Tables

Mf

WB Manufacturing LLC

Part Identifier Key

Round & Square Café Table - Duracast X-Base (Fixed Height)

Bolt Type
Table Dia/Size” Base # Base Part #: (Used to attach base to top) Bolt Part# Qty.
24 5220 ¥4-20x15mm joint connecor bolts 04009023 12 :b
30(Rd & Sq), 36(Rd) 5226 04066856 4-20x15mm joint connecor bolts 04009023 12 :b
36(Sq), 42(Rd) 5233 04009355 4-20x15mm joint connecor bolts 04009023 12 :b ’
42(Sq), 48(Rd) 5238 040171 -20x15mm joint connecor bolts 04009023 12 :\F

Round & Square Café Table - Tubular X-Base (Fixed Height)

Bolt Type
Table Dia” Base # Base Part #: (Used to attach base to top) Bolt Part# Qty.
24 7522 040152 10-24 x 1”joint connecor bolts 0401158 | 8 ’-’
30(Rd & Sq), 36(Rd) 7526 0401320 10-24 x 1”joint connecor bolts 0401158 8 b
36(Sq), 42(Rd) 7532 0401322 10-24 x 1”joint connecor bolts 0401158 8 &-
42(Sq), 48(Rd) 7538 04009320 4-20x15mm joint connecor bolts 04009023 12 :\p
Round Café Table - Pedestal Base (Fixed Height)
Bolt Type
Table Dia” Base # Base Part #: (Used to attach base to top) BoltPart# Qty.
24,30&36 | 1844 0409895 4-20x15mm joint connecor bolts 04009023 12 :b
42 & 48 2244 0402016 ¥4-20x15mm joint connecor bolts 04009023 12 :b
Square Café Table - Pedestal Base (Fixed Height)
Bolt Type
Table Dia” Base # Base Part #: (Used to attach base to top) BoltPart# Qty.
24,30&36 | 1870 04009481 ¥4-20x15mm joint connecor bolts 04009023 12 :\P
42 1871 ¥4-20x15mm joint connecor bolts 04009023 12 ;\w
48 1872 Y4-20x15mm joint connecor bolts 04009023 12 ;\P

wibenchmfg.com 507 E. Grant St. Thorp, WI 54771 « P - 800.242.2303 -




